em Qurmer apenm edgSwnsonar eufigpeppsamar
sLpBE (o fng. Spsa edurisailed BB
afpop sahE wLHDL QST CuGrmaeear
SWTH&ESELD.

Ly Hlenew Lig Hlanew Lig blenad
1 2 3

e Qupm @un@dw;érf 9400 8600 8100
FTSTTEWT BL_L_LD 5% 10% 5%
sifley Auppgl (R0 w1 @5 o6
SEHE)
Gy Qeeayser 19,500 19,820 31,120
Gririg. g6l 6,000 10,000 16,000

Qurgis OGseay ep. 64,000 &mad anq_uuam_ufﬂa)
Gflssayb. Qsmés s76@ el ughoe 1 @ 5000

S| GSHET QT . 3.

12 S.No. 1010

S.No. 1010 12UCM11

(For the candidates admitted from 2012-2013 onwards)
B.Com. DEGREE EXAMINATION, NOVEMBER 2017.
Fifth Semester
COST ACCOUNTING
Time : Three houré Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1.  What is Cost Unit?
QF6| D16 CTETHTE GTETET?
2.  State any two objectives of cost accounting.

sLsslme  sansdudenr  gCsed @y
Crréshisemer &nmis.

3.  What is Bin card?
QBMlq SL_6OL_ GTETDTEL GrebTen?
4.  What is Centralised Purchasing?
Bhblene Q&TeTLpSeD eTEmmmed creme?
5.  What is motion study?
% udy?

SDFQ| DUIG GTEITDITC) GTEITENT?




0.

11.

What is Labour turnover?

demblerent wrHmelsLd eTammmed eTeman?
What are fixed and variable overheads?
Bleneowimet mg'pguLb
QgevellambiseT eramiar wimaneu?

DIMLL &igUl  LO®DPEEF
What is meant by apportionment of overheads?
GpLemaysmer LfiTgallsse erammme ereman?
What is Normal loss?
FMGIMTEWT BLL_LD GTETMTE) GTGITEN?
What is Joint Product?
glenemr GLMmET eremmmmed arman?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Explain the objectives of Cost Accounting.

9L &s elemauler sarsdwaan Crrastismar

edleurfl.
Or

(b) In a factory 20,000 units of Product A were
produced. Prepare cost sheet showing cost
. per unit from the following costing records.

Rs.
Opening stock of raw materials 5,000
Direct wages 25,000

2 S.No. 1010
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(a)

Factory overheads f()s,bOO
Purchases 55,000
Closing stock of raw materials 10,000
Administration overheads 20,000

@@ Csmfnsraneuier GQumrmer A-ulé 20,000
S@seT o pusd GelwiulLer  GeareumLd
ghsaielbg
Qupiiul’LLgl. @eundlelmHEl @ DA@GHSEGMWL
Qeeenel s&T_(HL @M Lsselame L iquiame
swilés. ‘

sEeULGTTaNG DL Gs6dane

.

s&gTLCUMmeTsarf 6ir (AFT 5,000
F7&S|(mLLY

Cri7ig. &6l 25,000
Qgmnarane GCopHbaaeyser 40,000
QaEmeTLpSHe 55,000
ase';&nu@urr@mssaﬂsi.ﬂ @mé sradlmuLy 10,000
Hlreura Guomblsame ser 20,000

Find out EOQ and frequency of orders in a
terms of days.

v Annual usage = Rs. 1,20,000; Cost of placing

and receiving one order = Rs. 60; Annual
carrying cost = 10% of inventory value.
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13.

(b)

(a)

SlEsan  SLaenr  6Te]  DpERTEET  LoHmILD
ADWEEHES Qe Cu o6rer sT  DeTane
prlsaflé @D ajn

ey Lwerum(® = ep. 1,20,000

@M ymanssrar umuiEh wHmn  Cuysd
Geeay = . 60. eswmEnd GFwe, sr&E Ao
10%.

Or

Explain the procedure to be followed while
purchasing materials.

Gummeraer Qamarapse Gewwb Gung Gemnm
Geuairiq. W panL_panpsear 69 6mé Es.

You are required to ascertain the wages paid
to worker Mr. X and Mr. Y under Taylor’s
differential piece rate system.

Standard time allowed — 40 units per hour.
Simple time rate was Rs. 4 per hour.
Differential rate to be applied.

75% of piece rate when below standard.

125% of piece rate above the standard the
worker have produced in a day of 8 hours as
follows :

Mr. X — 240 units Mr. Y — 400 units.

4 S.No. 1010

14.

(b)

(a)

Gemeupid elupmiseflelmbg Mr. X wpmn Mr. Y
&g oLofar wrmuEL  Ceaume 6igssmed
wepulery Qar@ssiuL. Geuamgw gaedlenw
SETES (H . i

aueTumIGsLIULL. st - 1 wenflag 40
DV (GG !
grgmyent Coreisé aned 4 wanfllés

Capupb Camas small
Coumav 6iss smelluder 75% euepqumEsLILL L
2 HUSH &G 2L L Hlenaulley
Gouenad 6iz6 sacdlluder 125% euenyumssii L
2 HusHéE Bohw Blenaoudied
@m prefleo 8 wewfl Corsde Mr. X 240
se@samuud Mr. Y 400 e@seerub
2 HUSH Celig) 2 crere.

Or
Explain the causes of Labour Turnover.
2 EPLIL| LOMMSEIGETEN STTERTBIGET aN6T @s.
Mention the basis for apportioning the
following expenses to different departments.
(1) Labour medical expenses.
(1) Factory supervision expenses.
(i11)) Gas and water expenses.
(iv) Machine depreciation.
(v) Lighting expenses.
(vi) Advertising expenses.

¥ S.No. 1010



(b)

1 6vteu (LD Qeevei emmiseaneTL ueCaum
gopsErsel AfssalsEn  SiguumL®ws
M.
() Ceueewrl s wmsgieus Ceway
(i) Qsmipsree Cupurimes Gsway
(i) euruyy oo B QFewe]
iv) Qupsrs (Sg;u'_lwrrmm'
) WBenery clers@s Qewaser
(vi) eferbupF Caeey.
Or

Calculate the following overhead absorption
rate :

@i Labour hour rate.
(il) Direct labour cost rate.
(iii) Machine hour rate.

Materials used Rs. 36,000; Direct
labour cost Rs. 30,000; Direct labour
hours worked Rs..24,000; Hours of
machine operations 20000 hours. Factory
overhead charged to department
Rs. 25,000.

Gemeupd eNurmiseaiall(BHgl QeweenoliL Wams
FiliL 69 ssmss samssl(Hs.

i) el Cpy eldsLd

(i) Cprigs smed SIL &SN DilgLILIEnL

(ii)) Qupdy Crr aN&SLD.
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16.

> LCWTHEs Quimarser . 36,000, Chirg & &l
em. 30,000 Gprgs Qsmblerart Geume Gprd
em. 24,000, Quipdlyd @ukidlw o en. 20,000
gon&EEs sosdu Agmfiperme GewumeamnliLg

Qeeveyser ep. 25,000.

(a) The cost of production of 40 units consisting
of materials Rs. 5,500; Labour Rs. 3,200 and
Overheads Rs. 420. The normal waste 1s 5%

of input. Show the process account. -

40 sdpsrar 2pusd Gewedle ;. 5,500
gpeolQurermaeyd, . 5,200  2apuy
Qsoveursa)nd, . 420 Guh GewejseTTse|n
o eremar. @uaurear sfle] 5% GWL. LGP

saTSS mend ST (hs.

Or :
(b) Describe briefly the main features of Process
Costing.
uig bleney e ééwedlem Apulwueyseamer

s(H&&ELTS olleuflés.
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Prepare cost sheet (10,000 units were produced).
Raw materials 100000 kgs at Re. 1 per kg.
Direct wages 10,000 hours at Rs. 4 per hour.
Variable overheads :

Factory overheads at Rs. 2.40 per labour hour.
Selling and distribution Rs. 16,000.

Fixed overheads :

Factory Rs. 8,000; Selling Rs. 20,000; Profit 20% of

selling price.

7 S.No. 1010




1%

10,000 sie@ser srsE aliiyés elsimeaens &lgHLD
Quim igen eiqlumLwde i sselme Qemayse
Spsaarm_eurm e mUTTEsILL L g).

gpanunmer 1,00,000 Cem, g HCeor em. 1 efsid

2 pLSS &6l 10,000 wenflaer, oanflss op. 4 efsid
wrmibd CunHbeey :

Gsmflheres GuopQsmey, eeiQeurm Corg emuwib
wanfl 1 6@ 2.40 aigb

allpueen wpmibd udipgelliy Qeweysdr . 16,000.
Blanewirar GopnQsama, :

Asmflnarene em. 8,000 elpLiene Lor,z')Q;Lb udlipgefliiy

5. 20,000 eflpuenar eflenaoufed eomuid 20% GQarHéeh
auerenTid 6flaned Hlirewrid GlFwig) i sselame Lt lgWwIed
SWIT &,

The following receipts and issue were made of a
new item of stores.

Receipts Issue
, Units  Rs. Units
1 January 1000 1000  —
1st February 1000 800 —

28t February — — 1200
1st March 1000 1200 —
31st March - e 1200

Estimate weighted average prices for issued
stores.

8 S.No. 1010

18.

@m ydu &rsE ebupsons  GuplUlL  LHDID
eupmIGLILIL L edlLIFhIsET lSeme(HLomm) :

QuplulLeel eUPRISULILL el

S|V GSET @ A6 GSET
sgareul 1 1000 1000 —
Qgeuf 1 1000 800 —
Acireur 28 —_— — 1200
g 1 1000 1200 —
wmrg 31 e — 1200

epeols Quimmefler eﬁgpnéwsei) cllenevenws erentudl L sgmafl
ellenav (panmudled smemss.

Calculate the earning of a worker under the
following methods :

(a) Time rate.
(b) Piece rate.
(¢c) Halsey plan.
(d) Rowan plan.

Standard Time 30 hours, Time taken 20 hours.
Hourly rate of wages is Re. 1 per hour plus
dearness allowance at 50 paise per hour
worked.

9 - S.No. 1010
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Geameumd  erpaefleanr S @  AsmPerafiuder
QU(HEUTEW SanTde (h&
(=) Gpryeisid (<) Ceuenew éﬁg,Lb

(@) awreCe S ib (7)  Grmeuen S b

Blaneowirar Cpy 30 et Gpyid CriyLd m@gg@ 20 et -

(Sgr;rjm
werfl Gy esrflw efigid e warfl CrrsdHE . 1 wHmid

F(Hgens SsellaneliLig ¢ e Crrsdns 50 MUFT

<ieult uesflumhdlu CrrsSne.

A company has 3 production departments 4, B, C
and 2 service departments X and Y. The overheads
as primary distributions as follows :

Production Service

Departments Departmenté : Lo
A 6000 YL 2100
B 5500 Y 2700
c 4500 |

The service departments expenses are allocated as
follows :

A B B X Y
X 20%  40%  30% W 10%
Y 40%  20%  20%  20% .l

Show the distribution of service department
expenses under repeated distribution method.

10 S.No. 1010

20.

em 2nusd fneuase A, B, C aar 3 2.pusd
gsloomsEnd X, Y eram 2 Caaneu gleanms(@hLd 2 ememe

2 HuSS gievm em. Greneu gieom .

A 6000 Y 2100
B 5500 « i 2700
C 4500
s 6L efdlsliLig Ceeneus glanpulles
CunLgweisamer WRsslLB g '
A i C X Y
X 20% 40% 30% - 10%

o 40% 20% 20% 20% —

Geaneus giampuilen QeavaBaer Hmbu LSipsailsEd
wenpuiler LdliTe| QFuicuams sTarTlésey.

A product passes through three distinct processes
to completion. From the following prepare Process
a/c and Other A/c’s.

Process Process Process

Particulars 1 9 3
"~ Output (units) 9400 8600 8100
Normal loss 5%  10% 5%
Scrap value per unit Re.1 Rs.5 Rs.6
Direct expenses 19,500 19,820 31,120
Direct wages 6,000 10,000 16,000

General expenses Rs. 64,000 to be apportioned on
direct wages 5000 units are introduced at Process
1 @ Rs. 3 per unit.
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